

# EASTERN COALFIELDS LIMITED (A Subsidiary of Coal India Limited) Office of the General Manager S.P.Mines area

PO.Chitra Dist.Deoghar Jharkhand, PIN.815351

REF.NO: ECL/SPM/GM/AE(C)/NIQ/25-26/36

dated 25.12.2025

#### NOTICE INVITING QUOTATION (NIO)

Quotation Notice no:-

36 of 2025-26

1 Sealed quotations are invited from experienced contractors for execution of the following work:-

SL NO.	Name of Work.	Up dated Estimated	Earnest Money	Time of Completion
1	Repairing of boundary wall and pcc flooring at Devan Thakur Sthan near down side of Sona pond under S.P. Mines Area.	₹ 1,86,250.93	₹ 2,400.00	21 days
2	Repairing of culvert with some drain at corner gate of old workshop under S.P. Mines Area.	₹ 1,90,215.28	₹ 2,400.00	15 days
3	Replacement of GS sheet of shed at CISF lower barrack under S.P. Mines Area.	₹ 1,79,462.73	₹ 2,300.00	15 days
4	Cleaning of Jungle & drain back side B type building near guest house under S.P. Mines Area.	₹ 1,90,898.19	₹ 2,400.00	15 days
5	Cement concrete flooring with single layer brick flat soling around stair in Gyan Bharti School Campus under S.P. Mines Area.	₹ 1,97,772.09	₹ 2,500.00	21 days
6	Cleaning & bush cutting near approah road of pump house and around pump house at patrika submersible pump house under S.P. Mines Area.	₹ 1,38,070.79	₹ 1,800.00	15 days
7	Repairing of drain in the campus of Joharthan at Banwaridangal Chitra under S.P. Mines Area.	₹ 1,85,243.66	₹ 2,300.00	15 days
	Arrangement of 01 no Bathroom at Tulsidabour village under S.P. Mines Area.	₹ 1,90,987.31	₹ 2,400.00	21 days
	Repairing of stone wall 07 no. Coal dump near old colony under S.P. Mines Area.	₹ 1,90,644.81	₹ 2,400.00	21 days
10	Dewatering of rain water from PWD road culvert at Khoon by 10 HP pump under S.P. Mines Area.	₹ 1,92,253.34	₹ 2,500.00	30 days

- 3 Earnest money can be deposited in the form of Bank Draft drawn in favour of "EASTERN COALFIELDS LTD. A/C S.P Mines Area" on any Nationalised Bank or at SBI, Chitra Branch, Code No.5535 or Indian Bank, Chitra Colliery branch code no.00C599. The date of issuance of Demand Draft should be on or after the date of issue of Quotation Notice. The earnest money of the unsucessful bidder shall be refunded as promptly as possible and shall bear no interest. Quotation without earnest money as stated above shall be rejected.
  - Micro and Small Enterprises (MSEs) as defined in MSE Procurement Policy issued by Department of Micro, Small and Medium Enterprises (MSME) are exempted from the payment of earnest money (applicable only for Services tenders). In case of exemption of EMD, a copy of document (attested by notary public) in support of exemption will have to be submitted by the bidder during submission of their quotation
- 4 Quotation documents including Bill of Quantity (BOQ), Terms and Conditions etc. can be obtained from the Office of the Area Engineer(Civil), PO: Chitra Dist.:Deoghar ,PIN-\_815351, on any working day from 27.12.2025 and closes on 30.12.2025.from 10:00 AM to 5:00 PM on all working days and from 10:00 AM to 2:00 PM on Saturday. Quotation documents can also be downloaded from ECL website (www.easterncoal.nic.in) during above mentioned period. There is no application fee
- 5 Quotations can be submitted upto,5:00 PM, on 30.12.2025.in the tender box kept in the Office of the Area Engineer(Civil).In the event of specified date of submission is declared a Holiday by employer, the bid will be received upto the appointed time on the next working day
- 6 The quotation offer will be opened on 31.12.2025,4:00 PM at the office of Area Engineer(Civil) in the presence of the attending bidders or their authorized representatives whosoever chooses to be present in the office. In case of holiday on opening date, it will be opened on the next day at the same time and same place.
- 7 The validity period of the Quotation bid shall be 120 days from the date of opening of price bid or revised price bid, if any which ever is later

- 8 All pages of the submitted quotation documents and credentials are to be duly self authenticated by the bidder / constituted attorney of the bidder with his signature including all cutting/overwriting, if any. Completed and sealed Quotation documents to be submitted must include following documents:-
  - EMD :In a separate envelope (superscribed as "Earnest Money Deposit") OR

Copy of document (attested by notary public) in support of exemption of EMD for Micro and Small Enterprises (MSEs) as defined in MSE Procurement Policy issued by Department of Micro, Small and Medium Enterprises (MSME) in a separate envelope (superscribed as "Exemption for Earnest Money Deposit")

(b) Credentials, BOQ (duly filled up) & Quotation documents in a separate envelope (superscribed as "Credentials &

(c) Above two envelopes should be submitted in a scaled envelope with appropriate superscription. The envelope shall clearly contain the name of work, NIQ No. and Name & address of the bidder The intending bidder has to submit photocopy of the following credentials along with quotation document

- i) Permanent Account Number (PAN): The bidder should possess Permanent Account Number (PAN) issued by Income Tax department, Govt. of India.
- ii) Goods and Services Tax (GST) Status of Bidder The bidder should be either

GST Registered Bidder under Regular Scheme

GST Registered Bidder under Composition Scheme

GST unregistered Bidder

w.r.t. to GST status as declared by the bidder in his BOQ offer, he has to submit the following as the case may be: (a) GST Registered Bidder under Regular Scheme: GST Registration Certificate (i.e GST identification number) issued by appropriate authority.

- coming to have decouple year grains should be some (b) GST Registered Bidder under Composition Scheme: GST Registration Certificate (i.e GST identification number) issued by appropriate authority.
- (c) GST Unregistred Bidder: A Certificate from a practicing Chartered Accountant having membership number with Institute of Chartered Accountants of India certifying that the bidder is GST unregistered bidder/dealer in compliance with the relevant GST rules of India
- iii) Legal Status of the Bidder: Any one of the following documents appeal to a see Yo Free deaders ago
- (a) Affidavit or any other document to prove proprietorship / Individual status of the bidder
- (b) Partnership deed containing name of partners
- (c) Memorandum & Articles of association with certificate of incorporation containing name of the bidder
- iv) Power of Attorney, in case the Quotation is signed by an authorised representative of the bidder.
- v) Undertaking in prescribed format enclosed in Quotation document given at Annexure I complete and proposed to provide the complete and the c
- Vicins, and recording the Halling was still, Chica Branch, Coale 10 a) The Bill of Quantity is enclosed in the Quotation document and bidder has to quote the rates (% rates or item rates as per the instruction in the BOQ excluding Goods and Services tax, if any). The Price offer of the bidders will have no condition. The bidder has to submit his rates in the issued BOQ only. The price offer which is incomplete and not submitted as per instruction given is liable for rejection. The bidder has to quote rates in figure and words both. In case of any discripency in quoted rates in figure and words, the values indicated in words will be treated as final.
  - b) The bidder have to select the appropriate status from the following option given in the BOQ, if Goods and services tax clause is applicable for the work.
  - I) Status: GST registered Bidder under Regular Scheme
  - II) Status: GST registered Bidder under Composition Scheme
  - III) Status: GST unregistered bidder
  - c) The rates quoted by the bidder will be excluding GST and GST component (to be paid by ECL and/or the bidder) will appear as a separate entity.
  - d) The Price-bid (excluding GST) will be in Item Rate or Percentage Rate or Mixed Rate [combination of Item Rate and Percentage Ratel BOQ format and the bidder will have to quote for all the tendered items

e) System for decision of L1 bidder

The L1 bidder will be decided based on Overall Quoted Value (i.e. cost to the Company). The system for decision of L1 bidder will be as per following 02(two) cases:-

(i) Case - 1: Supply for which INPUT TAX CREDIT (ITC) is not available to the Company.

For calculation of Overall Bid Value, the GST [CGST, SGST/UTGST, IGST and GST (compensation to state tax)] to be paid by the bidder or by ECL will be added to decide the L1 i.e the ranking of the Bidders will be decided based on rates quoted by the bidder plus GST. This value of the bidder will be the "Cost to Company".

Then share of GST to be deposited by CIL/ Subsidiary, if any, will be deducted from overall bid value to arrive at the Contract value. The Price-bids of the quotationers shall have no condition. The Price Bid which is incomplete and not submitted as per instruction given above is liable for rejection.

(ii) Case - 2: Supply for which INPUT TAX CREDIT (ITC) is available to the Company.

For calculation of Overall Bid Value, the GST [CGST, SGST/UTGST, IGST and GST (compensation to state tax)] to be paid by the Bidder or by ECL will be ignored to decide the L1 i.e the ranking of the Bidders will be decided based on rates quoted by the bidder excluding GST. This value of the bidder will be the "Cost to Company".

Then share of GST to be paid by bidder shall be added with overall bid value to arrive at the Contract value. The Price-bids of the quatationers shall have no condition. The Price Bid which is incomplete and not submitted as per instruction given above is liable for rejection.

Note: The bidder should select their GST category as per clause no. 9 (ii) of NIO.

- 11 The contractor / contractors shall not pay less than the minimum wages to the labourer engaged by him / them as per Minimum Wages Act or such other legislation or award of the minimum wage fixed by the respective State Govt. or Central Govt. as may be in force
- 12 The bidder shall have to ensure implementation of CMPF/EPF, ESI if applicable and Bonus as per the Bonus Act and Miscellaneous Provision Act, 1948 and allied scheme framed thereunder in respect of the workers deployed by him and will have to recover statutory dues and deposit the same along with employer's contribution (Contractor's share) to the respective CMPF/EPF office and to submit statutory return under intimation to the Principal employer. The registration number of the Coal Mine in which the workers engaged by the contractor are working has to be furnished in the statutory return to be submitted to the concerned CMPF/EPF office stated as "Contractor Worker".
- tacher wild be made as perclice CST course distance by the bidder during 13 Conditional quotation offer will not be accepted.
- 14 Quotations shall be rejected outright without any reference if the documents submitted by the bidders along with their Quotation offer fail to prove eligibility in terms of above criteria. Documents submitted along with the Quotation shall be final and no supplementary document shall be accepted.

morphory has even a contained or at estudia whichever is inten-

- 15 Other details like General terms and conditions of NIQ is as per prevalent Standard General terms and Conditions of Contract of ECL for civil contracts. The bidders are requested to go through the prevalent Standard General terms and conditions of Conditions of contract of ECL for civil contracts, which is available in the office of the undersigned
- 16 Matters relating to any dispute or differences arising out of this tender and subsequent contracts awarded based on this NIQ shall be subject to the jurisdiction of Deoghar District Court
- 17 The Company does not bind itself to accept the lowest offer and reserves the right to reject any or all the offers without assigning any reasons whatsoever and also to split up the work between two or more bidders, at its sole discretion
- 18 The Company reserves the right to postpone the date of receipt and opening of quotation or to cancel the bid without assigning any reason whatsoever
- 19 The work shall not be sublet to any other party, unless approved by Engineer-in-Charge, in writing. Prior permission is required to be taken from the company for engagement of sub-contractor in part work/piece rated work
- 20 The decisions of ECL in awarding the work shall be final and cannot be subject to arbritation

All duties, taxes (excluding Goods and Services Tax and GST Compensation Cess (If applicable) only) and other levies, royalty, building and construction workers cess (as applicable in States), whether local, municipal, provincial or central pertaining to the contract payable by the bidder/Contractor under the Contract (during the entire period of contract), or for any other cause as applicable on the last date of submission of Bid, shall be included in the rates, prices and the total Bid Price submitted by the Bidder. All investments, operating expenses, incidentals, overheads, lifts, carriages, tools and plants etc. as may be attendant upon execution and completion of works shall also be included in the rates, prices and total Bid

nrice submitted by the hidder However, such duties, taxes, levies etc. which is notified after the last date of submission of Bid and/or any increase over the rate existing on the last date of submission of Bid shall be reimbursed by the company on production of documentary evidence in support of payment actually made to the concerned authorities.

Similarly if there is any decrease in such duties, taxes and levies the same shall become recoverable from the contractor. The details of such duties, taxes and other levies along with rates shall be declared by the bidder.

The item wise rate quoted by bidder shall be inclusive of all taxes, duties & levies but excluding GST & GST Compensation Cess, if applicable. The payment of GST and GST Compensation Cess by service availer (i.e. CIL/Subsidiary) to bidder/contractor (if GST payable by bidder/contractor) would be made only on the latter submitting a Bill/invoice in accordance with the provision of relevant GST Act and the rules made thereunder and after online filing of valid return on GST portal. Payment of GST & GST Compensation Cess is responsibility of contractor.

Further, any GST credit note required to be issued by the bidder/ contractor under the GST Provisions should be issued within thw time limit prescribed under the GST Law.

However, in case bidder/contractor is GST unregistered bidder/dealer or GST registered under composition scheme in compliance with GST rules, the bidder/dealer shall not charge any GST and/or GST Compensation Cess on bill/invoice. In case of unregistered dealer/bidder, GST, if applicable will be deposited by CIL/Subsidiary directly to concerned authorities in terms with GST provisions.

Input tax credit is to be availed by CIL/subsidiary as per rule.

If CIL/Subsidiary fails to claim Input Tax Credit(ITC) on eligible Inputs, input services and Capital Goods or the ITC claimed is disallowed due to failure on the part of supplier/vendor of goods and services in incorporating the tax invoice issued to CIL/Subsidiary in its relevant returns under GST, payment of CGST & SGST or IGST, GST (Compensation to State) Cess shown in tax invoice to the tax authorities, issue of proper tax invoice or any other reason whatsoever, the applicable taxes & cess paid based on such Tax invoice shall be recovered from the current bills or any other dues of the

The rates and prices quoted by the Bidder shall be fixed for the duration of the contract and shall not be subject to variations on any account except to the extent variations allowed as per the conditions of the contract of the bidding document.

The company reserves the right to deduct/ withhold any amount towards taxes, levies, etc. and to deal with such amount in terms of the provisions of the Statute or in terms of the direction of any statutory authority and the company shall only provide with certificate towards such deduction and shall not be responsible for any reason whatsoever.

In case of collection of minor minerals in area (both virgin and non-virgin), acquired by the Company under the Coal Act, the contractor will have to produce a royalty clearance certificate from the District Authorities before full and final payment.

Further where any damages and compensation becomes payable by either the company or the bidder/contractor pursuing to any provision of the detail work order, appropriate GST wherever applicable as per the GST provisions in force shall also apply in addition to such damages or compensation.

#### Note:

During the execution of the contract if the GST status of the bidder changes, then the payment of GST, if any, to the contractor will be made as per the GST status declared by the bidder during tender stage based on which cost to company has been ascertained or at actuals, whichever is lower.

- 22 Procurement from Micro and Small Enterprises (MSEs) (APPLICABLE FOR SERVICE NATURE OF QUOTATIONS)
  i) Subject to meeting terms and conditions stated in the NIQ including but not limiting to prequalification criteria, 25% of the work will be awarded to MSE as defined in MSE Procurement Policy issued by Department of Micro, Small and Medium Enterprises (MSME) for the tendered work/item. Where the quotationed work can be split, MSE quoting a price within a price band of L1 + 15% shall be awarded at least 25% of total quotationed work provided they match L1 price. In case the quotationed work cannot be split, MSE shall be awarded full work provided their quoted price is within a price band of L1 + 15% and they match the L1 price.
  - ii) In case of more than one such MSEs are in the price band of L1 + 15% and matches the L1 price, the work may be shared proportionately if the job can be split. If the job cannot be split, then the opportunity to match the L-1 rate of the quotation shall be given first to MSE who has quoted lowest rate among the MSEs and the total job shall be awarded to them after matching the L-1 price of the quotation. If the MSE who have quoted lowest rate among the MSEs in the price band of L1 + 15% do not agree to match the rate of L1 of the quotation, then the MSE with next higher quoted rate in the price band of L1 + 15% shall be given chance to match the rate of L1 for award of the complete job. This process to be repeated in till work is awarded to MSE or MSE bidders are exhausted.
  - iii) Out of the 25% target of annual procurement from micro and small enterprises 3(three) percent shall be earmarked for procurement from micro and small enterprises owned by women. In the event of failure of such MSEs to participate in the quotation process or meet the NIQ requirements and L1 price, 3(three) percent sub-target so earmarked shall be met from other MSEs.
  - iv) Out of the 25% target of annual procurement from micro and small enterprises 4(four) percent shall be earmarked for procurement from micro and small enterprises owned by Scheduled Caste & Scheduled Tribe entrepreneurs. In the event of failure of such MSEs to participate in the quotation process or meet the NIQ requirements and L1 price, four percent subtarget so earmarked shall be met from other MSEs.

the best of the best of the section and who make all the testing a first to be section.

control by the Better. Als set september of the control of the control better to the control of the control better the set of the control of

- v) To qualify for entitlement as SC/ST owned MSE, the SC/ST certificate issued by District Authority must be submitted by the bidder in addition to certificate of registration with anyone of the agencies mentioned in paragraph (I) above. The bidder shall be responsible to furnish necessary documentary evidence for enabling CIL/ Subsidiary to ascertain that the MSE is owned by SC/ST. MSE owned by SC/ST is defined as:
- In case of proprietary MSE, proprietor(s) shall be SC /ST
- In case of partnership MSE, The SC/ST partners shall be holding at least 51% shares in the enterprise.
- In case of Private Limited Companies, at least 51% share shall be held by SC/ST promoters.
- In case of Public Limited Companies, at least 51% share shall be held by SC/ST entrepreneurs at any given point of time. vi) Classification of Micro and Small Enterprise are as under:
- a. Micro Enterprise -Enterprise where the investment in plant and machinery or equipment does not exceed one crore Rupees and turnover does not exceed five core rupees.
- b. Small Enterprise- Enterprise where the investment in plant and machinery or equipment does not exceed ten crore Rupees and turnover does not exceed fifty core rupees.
- vii) The MSEs should be registered with District Industries Centers (DICs)/ Khadi & Village Industries Commission (KVIC)/ Khadi & Village Industries Board (KVIB)/ Coir Board/ NSIC/ Directorate of Handicrafts and Handloom or any other body specified by Ministry of Micro, Small & Medium Enterprises (MoMSME) are eligible for availing benefits under the Public Procurement Policy for Micro and Small Enterprise (MSEs) Order, 2012 as amended from time to time.
- viii) The MSEs are required to submit copy of documentary evidence, issued by their registering authority whether they are small enterprise or micro enterprise as per provisions of Public Procurement Policy for Micro and Small Enterprise (MSEs) Order, 2012 with latest guidelines/clarifications provided by MoMSME.
- ix) The existing MSE enterprises registered prior to 30th June 2020, shall continue to be valid for a period up to 31.03.2021 only. Mandatorily bidders need to have "Udyam Registartion Certificate" after 31.03.2021 for availing benefits under the Public Procurement Policy for Micro and Small Enterprise (MSEs) Order, 2012 as amended from time to time.
- x) If MSE Bidder withdraws his offers after last date of bid submission or fails to sign the Agreement or commence the work as per Conditions of Contract then such Bidder shall be banned for a minimum period of 1(One) year in line with
- 23 Restrictions on Procurement from a bidder of a country which shares a land border with India and on sub-contracting to contractors from such countries:
  - I. Any bidder from a country which shares a land border with India will be eligible to bid in this tender only if the bidder is registered with the Competent Authority (as per details given in Annexure-XV)
  - II. "Bidder" (including the term 'tenderer', 'consultant' or 'service provider' in certain context) means any person or firm or company, including any member of a Joint venture (that is an association of several persons or firms or companies), every artificial juridical person not falling in any of the descriptions of bidders stated herein before, including any agency, branch or office controlled by such person, participating in a procurement process.
  - III. "Bidder from a country which shares a land border with India" means:-
  - a. An entity incorporated, established or registered in such a country; or
  - A subsidiary of an entity incorporated, established or registered in such a country; or
  - c. An entity substantially controlled through entities incorporated, established or registered in such a country; or
  - d. An entity whose beneficial owner is situated in such a country; or
  - e. An Indian (or other) agent of such an entity; or
  - f. A natural person who is a citizen of such a country; or
  - g. A joint venture where any member of the joint venture falls under any of the above.
  - IV. "The beneficial owner" for the purpose of (III) above will be as under:
  - 1. In case of a company or Limited Liability Partnership, the beneficial owner is the natural person(s), who, whether acting alone or together, or through one or more juridical person(s), has a controlling ownership interest or who exercises control through other means.
  - Explanation
  - a. "Controlling ownership interest" means ownership of, or entitlement to more than Twenty Five Percent of shares or capital or profits of the company;
  - b. "Control" shall include the right to appoint the majority of the directors or to control the management or policy decisions, including by virtue of their shareholding or management rights or shareholders agreements or voting
  - 2. In case of a partnership firm, the beneficial owner is the natural person(s) who, whether acting alone or together, or through one or more juridical person, has ownership of entitlement to more than fifteen percent of capital or profits of the
  - 3. In case of an unincorporated association or body of individuals, the beneficial owner is the natural person(s), who, whether acting alone or together, or through one or more juridical person, has ownership of or entitlement to more than fifteen percent of the property or capital or profits of such association or body of individuals.
  - 4. Where no natural person is identified under (1) or (2) or (3) above, the beneficial owner is the relevant natural person who holds the position of senior managing official.

5. In case of a trust, the identification of beneficial owner(s) shall include identification of the author of the trust, the trustee, the beneficiaries with fifteen percent or more interest in the trust and any other natural person exercising ultimate effective control over the trust through a chain of control or ownership.

V. An Agent is a person employed to do any act for another, or to represent another in dealings with third person. VI. The successful bidder shall not be allowed to sub-contract works to any contractor from a country which shares a land

border with India unless such contractor is registered with the competent Authority.

the parties of the first of the state of the first of the first of the first of the state of the state of the first of the

to the cultivate and the commenter of the comment o

1. (a) The intending bidders must submit "Certificate" as per the format given at Annexure-I in compliance to order no.F.No.6/18/2019-PPD dt 23/7/2020 of Ministry of Finance, Dept of Expenditure, Public Procurement Division with respect to "restrictions on procurement from a bidder of a country which shares a land border with India and on subcontracting to contractors from such countries"

(b) Valid registration from competent authority (if applicable). Registration should be valid at the time of submission of bid and at the time of acceptance of bids. A Transferral Mathewater, the transfer of Charles and a

III - one sense is reasonable and reasonable in the control of the c

on any many of the register as a first of the change of the state of t

a regard for all their and the transport of the regard of the regard of the property of the property of the contract of the property of the contract of the co to the same at the account of the Proceeding opening the Area

no reproductive about the reservoir resident bridge about the best of the

who we have to the transfer of the second of the second of the

as three a beautiful and a state of

the Section of the second of t

PROPERTY WITH STATES AND

which is a selection of the contract that the selection is a selection of the selection of

streets a discrete ingregar in hydrocare management of the original collection. At the local continents of

reset conservation to be larger or electronic terror and it fits exception to the law of the larger energy at the latter of the

prime tetropic and deposit of the control of the control will be added to the control of the con Dispression representative section of the section o

provide a comparation of the contract of the c

to the purpose and the profession of the person of the single of the street of the best of the street of the stree the property of the parameters and a second of the second

of a company for the first of the control of the selection of the control of the selection of the selection

was a linear transfer to the transfer of the state of the

as again to a visit of the same expension of the addition of the property of the party of the party.

white gap time grows with rather of the empediates on finance of the circumstates and

Area Engineer (Civil) p. E.S. suggest them leaves a local large and the arms are all a successful and the succe S P Mines Area

### DISTRIBUTION:-

- 1 T.S to CVO, ECL HQ
  2 GM (System), ECL.
- 2 GM (System), ECL.
  3 GM, S P Mines Area.
- 4 Project Officer, S P Mines Area
- 6 EIC (Civil) / SP Mines Area.

since property of the same of approve the consequence of

- 7 Any other official as per need.
- 8 Notice Board.

SI	Name of Work	Amount	
1	Repairing of boundary wall and pcc flooring at Devan	186250.93	
	Thakur Sthan near down side of Sona pond under S.P.		
	Mines Area.		
2	Repairing of culvert with some drain at corner gate of	190215.28	
	old workshop under S.P. Mines Area.		
3	Replacement of GS sheet of shed at CISF lower	179462.73	
	barrack under S.P. Mines Area.		
4	Cleaning of Jungle & drain back side B type building	190898.19	
	near guest house under S.P. Mines Area.		
5	Cement concrete flooring with single layer brick flat	197772.09	
	soling around stair in Gyan Bharti School Campus		
	under S.P. Mines Area.		
6	Cleaning & bush cutting near approah road of pump	138070.79	
	house and around pump house at patrika		
	submersible pump house under S.P. Mines Area.		
7	Repairing of drain in the campus of Joharthan at	185243.66	
	Banwaridangal Chitra under S.P. Mines Area.		
8	Arrangement of 01 no Bathroom at Tulsidabour	190987.31	
	village under S.P. Mines Area.		
9	Repairing of stone wall 07 no. Coal dump near old	190,644.81	
	colony under S.P. Mines Area.		
10	Dewatering of rain water from PWD road culvert at	192,253.34	
	Khoon by 10 HP pump under S.P. Mines Area.		

NAME OF THE WORK	Repairing of boundary wall and pcc flooring at Devan Thakur Sthan near down side of Sona pond under S.P. Mi		
NIQ NO. & DATE	1		
INPUT TAX AVAILABL E / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT		
RATE OF GST (in%)	18%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK (√) AS APPLICABLE]	(a)	GST REGISTERED BIDDER	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION	
	(c)	GST UNREGISTERED BIDDER	

Sl. No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Dismantling old plaster or skirting raking out joints and cleaning the	34.58	sqm	32.70	1130.77
2	12 mm cement plaster of mix : 1:6 (1 cement: 6 fine sand)	34.58	sqm	220.65	7630.08
3	Brick work with common burnt clay F.P.S. (non modular) bricks of	0.73	cum	6873.00	5017.29
4	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded	287.43	sqm	432.75	124385.33
5	Finishing walls with water proofing cement paint of required shade:	352.00	sqm	49.00	17248.00
	Total Estimate amount including CMPF				155411.47
	Labour cost @ 25% including CMPF		38852.87		
	Labour cost excluding CMPF		34690.06		
	CMPF @12% on Labour				4162.81
	CMPS@7% on Labour				2428.31
	Total Amount including CMPF & CMPS				157839.77
	GST@18%				28411.16
	Total estimate amount with CMPF,CMPS & GST				186250.93

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words	
9	6) ABOVE / BELOW THE ESTIMATED
COST	

NAME OF THE WORK	Repairing of culvert with some drain at corner gate of old workshop under S.P. Mines Area.			
NIQ NO. & DATE				
NPUT TAX AVAILABLE / NOT AVAILABLE		TO BE MENTIONED BY DEPARTMENT		
RATE OF GST (in%)	18%			
STATUS OF BIDDER W.R.T. GST [PLEASE MARK ( $$ ) AS APPLICABLE]	(a)	GST REGISTERED RIDDER		
	(p)	GST REGISTERED BIDDER UNDER COMPOSITION SCHEME		
	(c)	GST UNREGISTERED BIDDER		

SL No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Demolishing cement concrete manually/ by mechanical means	1.14	cum	1494.90	1704.19
2	Demolishing R.C.C. work manually/ by mechanical means including	0.91	cum	2180.90	1984.62
3	Demolishing brick work manually/ by mechanical means including	2.73	cum	1264.65	3452.49
4	etacking of carticoshie material and dienocal of uncertainashie material.  Earth work in excavation by mechanical means (Hydraulic excavator) /	12.06	cum	188.75	2276.33
5	Brick flat soling	11.83	sqm	322.63	3816.71
6	Providing and laying in position cement concrete of specified grade	0.89	cum	5434.55	4836.75
7	Providing and laying in position specified grade of reinforced cement	2.37	cum	6903.90	16362.24
8	Reinforced cement concrete work in walls (any thickness), including	3.28	cum	8030.65	26340.53
9	Reinforced cement concrete work in beams, suspended floors, roofs having slone up to 15° landlines, halconies, shelves, challes, lintels, hands, nicin	2.37	cum	8420.40	19956.35
10	Centering and shuttering including strutting, propping etc. and removal	5.72	sqm	269.30	1540.40
11	Centering and shuttering including strutting, propping etc. and removal	36.40	sqm	562.90	20489.56
12	Centering and shuttering including strutting, propping etc, and removal	12.35	sqm	617.00	7619.95
13	Steel reinforcement for R.C.C. work including straightening, cutting,	480.48	kg.	95.75	46005.96
14	Brick work with common burnt clay F.P.S. (non modular) bricks of	0.36	cum	5737.70	2065.57
15	12 mm cement plaster finished with a floating coat of neat cement of	3.80	sqm	294.85	1120.43
16	cleaning of sludge from drain	0.45	cum	289.00	130.05
	Total Estimate amount including CMPF				159702.18
	Labour cost @ 15% including CMPF		23955.33		
	Lahour cost excluding CMPF		21388.68		
-	CMPF@12% on Labour		2566.64		
	CMPS@7% on Labour				1497.21
	Total Amount including CMPF & CMPS				161199.39
1	GST@18%		-		29015.89
	Total estimate amount with CMPF,CMPS & GST				190215.28

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words				
%]	ABOVE	/ BELOW	THE ESTIMATED	COST

NAME OF THE WORK	Replacement of GS sheet of shed at CISF lower barrack under Mines Area.		
NIQ NO. & DATE			
INPUT TAX AVAILABLE / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT		
RATE OF GST (in%)	18%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK $()$ AS APPLICABLE]	(a)	GST REGISTERED BIDDER	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION SCHEME	
	(c)	GST UNREGISTERED BIDDER	

SI, No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Providing and fixing hand rail of approved size by welding etc. to steel	214.78	kg	149.70	32152.64
2	Providing corrugated G.S. sheet roofing including vertical / curved	61.75	sqm	962.30	59422.03
3	Dismantling roofing including ridges, hips, valleys and gutters etc.,	179.31	sqm	103.30	18522.72
4	Structural steel work riveted, bolted or welded in built up sections,	159.39	kg	97.60	15556.46
5	Brick work with common burnt clay F.P.S. (non modular) bricks of class	2.34	cum	6973.60	16318.22
6	12 mm cement plaster of mix: 1:6 (1 cement: 6 fine sand)	9.36	sqm	226,80	2122.85
7	Mild steel sheets of 1.00 mm thickness for tanks	1,05	quintal	5366.00	5652.33
i i	Total Estimate amount including CMPF				149747.25
li ji	Labour cost @ 25% including CMPF		37436.81		
	Labour cost excluding CMPF		33425.73		
	CMPF @ 12% on Labour				4011.09
	CMPS@7% on Labour				2339.80
	Total Amount including CMPF & CMPS				152087.05
	GST@18%				27375.67
i i	Total estimate amount with CMPF,CMPS & GST				179462.73

Note: Bidders are requested to quote their rate in figure & words both,

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words	
%) ABOVE /	BELOW THE ESTIMATED COST

NAME OF THE WORK	Cleaning of Jungle & drain back side B type building near g house under S.P. Mines Area.		
NIQ NO. & DATE			
INPUT TAX AVAILABLE / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT		
RATE OF GST (in%)	18%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK $()$ AS APPLICABLE]	(a)	GST REGISTERED BIDDER	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION SCHEME	
	(c)	GST UNREGISTERED BIDDER	

SI. No.	Description	Qty	Unit	Rate/Unit in Rs.	Amount in Rs.
1	PartA	5			
3	Taken labour for cleaning of drain	10	nos	553	5530.00
	Labour cost excluding CMPF		4937.50		
1	CMPF@12% on Labour		592.50		
1 3	CMPS@7% on Labour	9 4			345.63
1 - 1	Part A Total Amount including CMPF & CMPS				5875.63
	Part B	2			
1	CARRIAGE OF MATERIALS By Mechanical Transport including loading unloading and stacking Lime, moorum, building rubbish Lead 5 Km	403.00	cum	177.10	71371.30
2	Clearing grass and removal of the rubbish up to a distance of 50 m outside the periphery of the area cleared	7604.88	sqm	10.80	82132.70
	Part-B Total amount including CMPF		000000000000000000000000000000000000000		153504.00
9	Labour cost @ 25% including CMPF	6 6	38376.00		die controlle
	Labour cost excluding CMPF		34264.29		
	CMPF@12% on Labour		4111.71		
	CMPS@7% on Labour				2398.50
	Part B Total Amount including CMPF & CMPS				155902.50
	Total Amount including CMPF & CMPS (Part A+B )				161778.13
	GST@18%				29120.06
	Total estimate amount with CMPF,CMPS & GST	0 1			190898.19

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words				
%)	ABOVE	/ BELOW	THE ESTIMATED	COST.

NAME OF THE WORK	1 6/3/25 16/25 15/3/3	Cement concrete flooring with single layer brick flat soling around stair in Gyan Bharti School Campus under S.P. Mines Area.			
NIQ NO. & DATE		***			
INPUT TAX AVAILABLE / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT				
RATE OF GST (in%)		19%			
STATUS OF BIDDER W.R.T. GST [PLEASE MARK (√) AS APPLICABLE]	(a)	GST REGISTERED BIDDER UNDER			
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION SCHEME			
	(c)	GST UNREGISTERED BIDDER			

SI. No.	Description	Qty	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Surface dressing of the ground including removing vegetation and inequalities not exceeding 15 cm deep and disposal of rubbish, lead up to 50 m and lift up to 1.5 m. All kinds of soil	199.12	sqm	16.30	3245.66
2	Coment concrete flooring 1/2:4 {1 coment: 2 coarse sand: 4 graded stone aggregate} finished with a floating coat of neat coment, including	199.12	sqm	395.50	78751.96
	Total Estimate amount Excluding CMPF			1 1	81997.62
	CMPF+CMPS & (12+7)% on Labour Cost (35398.11 x 19%)				6725.64
				A Total	88723.26
	WB PWD				
3	Single layer brick flat soling	199.12	sqm	312.00	62125.44
4	Sand filling in plinth	25.29	cum	521.07	13177.86
	CMPF+CMPS @ (12+7)% on Labour Cost (69580.85 x 25% x 19%)				3576.91
				B Total	78880.21
	Total Amount including CMPF & CMPS (A+B)				167603.47
( )	GST@18%			1 11	30168.62
	Total estimate amount with CMPF,CMPS & GST				197772.09

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words	
	%) ABOVE / BELOW THE ESTIMATED COST

NAME OF THE WORK	Gleaning & bush cutting near approach road of pump house and around pump house at patrika submersible pump house under			
NIQ NO. & DATE				
INPUT TAX AVAILABLE / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT			
RATE OF GST (in%)	18%			
STATUS OF BIDDER W.R.T. GST [PLEASE MARK ( $$ ) AS APPLICABLE]	(a)	GST REGISTERED BIDDER		
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION SCHEME		
	(c)	GST UNREGISTERED BIDDER		

SI. No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Clearing jungle including uprooting of rank vegetation, grass, brush	5430.00	sqm	10.80	58644.00
2	Surface dressing of the ground including removing vegetation and	2700.00	sqm	20.95	56565.00
	Total Estimate amount including CMPF				115209.00
	Labour cost @ 25% including CMPF		28802.25		
	Labour cost excluding CMPF		25716.29		
	CMPF@12% on Labour		3085.96		
	CMPS@7% on Labour				1800.14
	Total Amount including CMPF & CMPS				117009.14
1	GST@18%				21061.65
	Total estimate amount with CMPF,CMPS & GST				138070.79

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words				
%)	ABOVE	/ BELOW	THE ESTIMATED	COST

NAME OF THE WORK	Repairing of drain in the campus of Joharthan at Banwaridanga Chitra under S.P. Mines Area.		
NIQ NO. & DATE			
INPUT TAX AVAILABLE / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT		
RATE OF GST (in%)	18%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK ( $$ ) AS APPLICABLE]	(a)	GST REGISTERED BIDDER	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION SCHEME	
	(c)	GST UNREGISTERED BIDDER	

SI. No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Demolishing brick work manually/ by mechanical means including	6.19	cum	1264.65	7825.02
2	Brick work with common burnt clay F.P.S. (non modular) bricks of class	18.11	cum	5737.70	103924.09
3	12 mm cement plaster of mix: 1:4 (1 cement: 4 fine sand)	94.95	sqm	239.60	22750.02
4	Clearing jungle including uprooting of rank vegetation, grass, brush	900.00	sqm	10.80	9720.00
5	CARRIAGE OF MATERIALS	58.45	cum	177.10	10351.85
	Ru Machanical Transport including loading unloading and stacking Total Estimate amount including CMPF	1	SEVENIE -		154570.98
	Labour cost @ 25% including CMPF		38642.75		
	Labour cost excluding CMPF	1	34502.45		
	CMPF@12% on Labour				4140.29
	CMPS@7% on Lubour				2415.17
	Total Amount including CMPF & CMPS				156986.15
	GST@18%				28257.51
	Total estimate amount with CMPF,CMPS & GST				185243.66

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words	
	%) ABOVE / BELOW THE ESTIMATED COST

NAME OF THE WORK	Arrangement of 01 no Bathroom at Tulsidabour village under S.P. Mines Area.		
NIQ NO. & DATE		J. W. Commission	
INPUT TAX AVAILABL E / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT 18%		
RATE OF GST (in%)			
STATUS OF BIDDER W.R.T. GST [PLEASE MARK (√) AS APPLICABLE]	(a)	GST REGISTERED BIDDER	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION	
	(c)	GST UNREGISTERED	

Sl. No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
-3	Earth work in excavation by mechanical means (Hydraulic excavator)	25.39	cum	188.75	4792.17
2	Supplying and filling in plinth with sand under floors, including	1.60	cum	1061.60	1698.56
3	Providing and laying in position cement concrete of specified grade	1.33	cum	5274.90	7026.17
4	Reinforced cement concrete work in beams, suspended floors, roofs	1.02	cum	8420.40	8567.76
5	Centering and shuttering including strutting, propping etc. and	4.60	sqm	617.00	2838.20
6	Contering and shuttering including strutting, propring etc. and	3,54	sqm	494.05	1748,94
.7	Providing, hoisting and fixing above plinth level up to floor five level	1.00	cum	7929.30	7933.26
В	Steel reinforcement for R.C.C. work including straightening, cutting,	170.30	sqm	95.75	16306.42
9	Providing and fixing 1mm thick M.S. sheet door with frame of	1.50	sqm	4123.95	6185.93
10	Providing and laying Ceramic glazed floor tiles of size 300x300 mm	5.58	sqm	780.70	4356.31
11	Providing and laying rectified Glazed Ceramic floor tiles of size	1.80	sqm	957.95	1724.31
12	12 mm cement plaster of mix: 1:6 (1 cement: 6 fine sand)	37.10	sqm	226.80	8414.28
13	12 mm cement plaster finished with a floating coat of neat cement of	18.72	sqm	294.85	5519.59
14	6 mm cement plaster of mix: 1:3 (1 cement: 3 fine sand)	1.80	sqm	203.65	366.57
15	Colour washing such as green, blue or buff to give an even shade:	38,90	sqm	34.75	1351.78
16	Brick flat soling	15.55	sqm	361.44	5620,39
17	Brick work with common burnt clay F.P.S. (non modular) bricks of	8.13	cum	5737.70	46669.88
18	Brick work with common burnt clay F.P.S. (non modular) bricks of	4.05	cum	6973.60	28243.08
	Total Estimate amount including CMPF				159363.59
	Labour cost @ 25% including CMPF		39840.90		
	Labour cost excluding CMPF		35572.23	ia 5	
	CMPF @12% on Labour			0 0	4268.67
1 1	CMPS@7% on Labour				2490.06
	Total Amount including CMPF & CMPS				161853.65
	GST@18%				29133.66
	Total estimate amount with CMPF,CMPS & GST			9 9	190987.31

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words	
%)	ABOVE / BELOW THE ESTIMATEI
COST	

NAME OF THE WORK	Repairing of stone wall 07 no. Coal dump near old colony under S.P. Mines Area.		
NIQ NO. & DATE	7		
INPUT TAX AVAILABL E / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT		
RATE OF GST (in%)	19%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK (√) AS APPLICABLE]	(a)	GST REGISTERED BIDDER	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION	
	(c)	GST UNREGISTERED BIDDER	

Sl. No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Demolishing stone rubble masonry manually/ by mechanical means	4.32	cum	1745.30	7539.70
2	Providing and laying in position cement concrete of specified grade	2.88	cum	5355.90	15424.99
3	Random rubble masonry with hard stone in foundation and plinth	11.52	cum	4934.20	56841.98
4	Random rubble masonry with hard stone in superstructure above	12.96	cum	6116.60	79271.14
	Total Estimate amount including CMPF				159077.81
	Labour cost @ 25% including CMPF		39769.45		
	Labour cost excluding CMPF		35508.44		
	CMPF @12% on Labour				4261.01
	CMPS@7% on Labour				2485.59
	Total Amount including CMPF & CMPS				161563.40
	GST@18%				29081.41
	Total estimate amount with CMPF,CMPS & GST				190,644.81

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words	
%)	ABOVE / BELOW THE ESTIMATED
COST	

NAME OF THE WORK	Dewatering of rain water from PWD road culvert at Khoon by 10 HP pump under S.P. Mines Area.		
NIQ NO. & DATE			
INPUT TAX AVAILABL E / NOT AVAILABLE	TO BE MENTIONED BY DEPARTMENT		
RATE OF GST (in%)	18%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK (√) AS APPLICABLE]	(a)	GST REGISTERED BIDDER	
	(b)	GST REGISTERED BIDDER UNDER COMPOSITION	
	(c)	GST UNREGISTERED BIDDER	

Sl. No.	Description	4	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Hire charge of pump set of capacity 1000 ltrs/ hr. For 03 shift.	400.00	hr	401.05	160420.00
	Total Estimate amount including CMPF				160420.00
	Labour cost @ 25% including CMPF		40105.00		
	Labour cost excluding CMPF		35808.04		
	CMPF @12% on Labour		, ,		4296.96
	CMPS@7% on Labour				2506.56
	Total Amount including CMPF & CMPS				162926.56
1 7	GST@18%		1		29326.78
	Total estimate amount with CMPF,CMPS & GST				192,253.34

Note: Bidders are requested to quote their rate in figure & words both.

Area Engineer (Civil) S.P. Mines Area

I AGREE TO EXECUTE THE WORK at%(in words	
%)	ABOVE / BELOW THE ESTIMATE
COST	

## DETAIL QUOTATION DOCUMENT



S.P.MINES AREA
EASTERN COALFIELDS LIMITED
(A Subsidiary of Coal India Limited)
ADDRESS:-Office of the General Manager
S.P.mines Area
PO.Chitra, Dist.Deoghar
Jharkhand, PIN.815351

#### **QUOTATION DOCUMENT**

1	Name of the work	
2	Place of work	
3	NIQ No. & date	
4	Time of completion	
5	Earnest Money Deposit (EMD)	
6	Date of issue of Quotation document	
7	Date & Time of submission of Quotation offer	
8	Date & Time of opening of Quotation offer	
9	Documents included	Notice Inviting Quotation (NIQ)     Bill of Quantity (BOQ)     Format of Undertaking
10	Total No. of pages	

1820ED 10:	
NAME OF QUOTATIONER :	
POSTAL ADDRESS :	
e-mail address	
Mobile No.	

#### Annexure-I

## PROFORMA FOR UNDERTAKINGTO BE SUBMITTED BY BIDDER'S (ON BIDDER'S LETTER HEAD) FOR GENUINENESS OF THE INFORMATION FURNISHED AND AUTHENTICITY OF THE DOCUMENTS SUBMITTED IN SUPPORT OF HIS ELIGIBILITY

#### FORMAT OF UNDERTAKING

I/W	/e,, Proprietor/Partner/Legal Attorney/Director/ Accredited Representative of M/S, solemnly declare that:
١.	I/We am/are submitting Bid for the work
	accordance with all the terms, conditions and provisions of the bid.
۷.	Myself/Our Partners/Directors don't has/have any relative as employee of Coal India Limited.
	OR
	The details of relatives of Myself/Our Partners/Directors working as employee of Coal India Limited is as follows:
	a) Name of the employee
	b) Place of posting
	c) Department
	d) Designation
	e) Type of relation - Wife/Husband/ Father/ Step-Father/Mother / Step-Mother/ Son/Step-son/ Son's wife / Daughter / Daughter's Husband / Brother/ Step-Brother/ Sister /
	Stet-Sister.
3.	All information furnished by me / us in respect of fulfillment of eligibility criteria and qualification information of this Bid is complete, correct and true.
1.	All copies of credentials and documents submitted along with this Bid are genuine, authentic, true and valid.
5.	1/We hereby undertake that we shall register and obtain license from the competent authority under the contract labour (Regulation & Abolition Act) as relevant, if applicable.
Ó.	*I/We hereby confirm that we have registration with CMPF / EPF Authorities. We shall make necessary payments as required under law.
	Or *I/We hereby undertake that we shall take appropriate steps for registration as relevant under CMPF / EPF authorities, if applicable. We shall make necessary payments as
	required under law.
7.	*I/We have not been banned or delisted by any Govt., or Quasi Govt. Agencies or PSUs.
	Or
	*I / Wehave been banned by the organization named "" for a period of year/s, effective from To
3.	We
	of CMM/MCEW pertaining to arbitration.
€.	Certificate regarding compliance to order no.F.No.6/18/2019-PPD dt 23/7/2020 as amended from time to time of Ministry of Finance, Dept of Expenditure, Public
	Procurement Division with respect to restrictions on procurement of goods, services or works from a Bidder of a country which shares a land border with India and on
	sub-contracting to contractors from such countries - I/we have read the Clause regarding restrictions on procurement from a Bidder of a country which shares a land border
	with India and on sub-contracting to contractors from such countries; I/we certify that I am/ we are not from such a country or, if from such a country, has/have been registered with the Competent Authority and will not sub-contract any work to a contractor from such countries unless such contractor is registered with the Competent Authority. I hereby
	certify that I/we fulfil all requirements in this regard and I am/ we are eligible to be considered.
	Note: Where applicable, evidence of Competent Authority shall be attached along with this Undertaking

10. If any information and document submitted is found to be false/ incorrect at any time, department may cancel my/our Bid and action as deemed fit may be taken against me/us, including termination of the contract, for

11.	I / we have read, understood and agreed to the prevalent Standard General terms and Conditions of Contract of ECL for civil contracts which is applicable for this quotation notice.
	* Delete whichever is not applicable.
	Dated
	Signature of Bidder
	(In case of Partnership firm firm, signature of all partners with name)



- A. The Competent Authority for the purpose of registration under this Order shall be the Registration Committee constituted by the Department for Promotion of Industry and Internal Trade (DPIIT)\*.
- B. The Registration Committee shall have the following members\*:

 An officer, not below the rank of Joint Secretary, designated for this purpose by DPIIT, who shall be the Chairman;

 Officers (ordinarily not below the rank of Joint Secretary) representing the Ministry of Home Affairs, Ministry of External Affairs, and of those Departments whose sectors are covered by applications under consideration;

 Any other officer whose presence is deemed necessary by the Chairman of the Committee.

C. DPIIT shall lay down the method of application, format etc. for such bidders as stated in para 1 of this Order.

- D. On receipt of an application seeking registration from a bidder from a country covered by para 1 of this Order, the Competent Authority shall first seek political and security clearances from the Ministry of External Affairs and Ministry of Home Affairs, as per guidelines issued from time to time. Registration shall not be given unless political and security clearance have both been received.
- E. The Ministry of External Affairs and Ministry of Home Affairs may issue guidelines for internal use regarding the procedure for scrutiny of such applications by them.
- F. The decision of the Competent Authority, to register such bidder may be for all kinds of tenders or for a specified type(s) of goods or services, and may be for a specified or unspecified duration of time, as deemed fit. The decision of the Competent Authority shall be final.
- G. Registration shall not be granted unless the representatives of the Ministries of Home Affairs and External Affairs on the Committee concur\*.
- H. Registration granted by the Competent Authority of the Government of India shall be valid not only for procurement by Central Government and its agencies/ public enterprises etc. but also for procurement by State Governments and their agencies/ public enterprises etc. No fresh registration at the State level shall be required.

- I. The Competent Authority is empowered to cancel the registration already granted if it determines that there is sufficient cause. Such cancellation by itself, however, will not affect the execution of contracts already awarded. Pending cancellation, it may also suspend the registration of a bidder, and the bidder shall not be eligible to bid in any further tenders during the period of suspension.
- J. For national security reasons, the Competent Authority shall not be required to give reasons for rejection / cancellation of registration of a bidder.
- K. In transitional cases falling under para 3 of this Order, where it is felt that it will not be practicable to exclude bidders from a country which shares a land border with India, a reference seeking permission to consider such bidders shall be made by the procuring entity to the Competent Authority, giving full information and detailed reasons. The Competent Authority shall decide whether such bidders may be considered, and if so shall follow the procedure laid down in the above paras.
- L. Periodic reports on the acceptance/ refusal of registration during the preceding period may be required to be sent to the Cabinet Secretariat. Details will be issued separately in due course by DPIIT.

#### [\*Note:

- i. In respect of application of this Order to procurement by/ under State Governments, all functions assigned to DPIIT shall be carried out by the State Government concerned through a specific department or authority designated by it. The composition of the Registration Committee shall be as decided by the State Government and paragraph G above shall not apply. However, the requirement of political and security clearance as per para D shall remain and no registration shall be granted without such clearance.
- ii. Registration granted by State Governments shall be valid only for procurement by the State Government and its agencies/ public enterprises etc. and shall not be valid for procurement in other states or by the Government of India and their agencies/ public enterprises etc.]

#### Annexure-III

#### F.No.6/18/2019-PPD Ministry of Finance Department of Expenditure Public Procurement Division

161, North Block New Delhi 23rd July, 2020

#### Order ( Public Procurement No. 2)

Subject: Exclusion from restrictions under Rule 144 (xi) of the General Financial Rules (GFRs), 2017 –regarding.

In Order (Public Procurement No. 1) dated 23rd July 2020, orders have been issued requiring registration of bidders from a country sharing a land border with India in order to be eligible to bid in public procurement.

- Notwithstanding anything contained therein, it is hereby clarified that the said Order will not apply to bidders from those countries (even if sharing a land border with India) to which the Government of India has extended lines of credit or in which the Government of India is engaged in development projects.
- Updated lists of countries to which lines of credit have been extended or in which development projects are undertaken are given in the website of the Ministry of External Affairs.

(San) Prasad)
Joint Secretary (PPD)
Email ID: js.pfc2.doe@gov.in

Telephone: 011-23093882

To.

- (1) Secretaries of All Ministries/ Departments of Government of India for information and necessary action. They are also requested to inform these provisions to all procuring entities.
- (2) Secretary, Department of Public Enterprises with a request to immediately reiterate these orders in respect of Public Enterprises.
- (3) Chief Secretaries/ Administrators of Union Territories/ National Capital Territory of Delhi